A= 1,61m2

M1:100

B-B

=1.24m2

Belichtung A-

=1.24m2

Belichtung A-

=1.24m2

Belichtung A-

. entfallt
; ; : : 4 b : e
nen/17,3/2y I
N
E [T O I
Zimmer 2 ~Bad | |
_____ ] 10,33 m 2 - ) s5e1m2(CH ]| K I —
) O Loggia | Balkon
~ A Wi 464m* | 464m?
. C-C C-@ ‘ / 37 m | I
3 —— - —r ; Wohn-Essraum |
£ 7\ % N\ T O 27,79 m>2 |
] 200 8 |] ' |
: : : , , = - , ' J|7 Diele - '
L | 9,50 m 2
o N Laubengang po o (8 @
2 — o | &
20/ [oggia\2® TOP12 3352m OG—F§K=+2,77 (564,07) poo
2.90 m* Abstell o} @
TOPO7 1.71m 2 5 o)
80 8 § 8 8 § 8 §
200 é%sge,i 5 80 = Abstell = & . Abstell = & _ S % 00 A-A
g 200~ < 2,38 m?2 200 200~ < 2,38 m?2 200 200~ a ﬂ
) O O o
. . Diele [=
= = = 8,46m 2
Bad 2 Bad 2 Bad 2 80 Belichtung A= 1,24m2
6.01mz 601mz Gimz ) S Wohn-Essraum 3 Zimmer 2
- S =N (g S ~—— © 32,50 m 2 9,96 m 2
z 5 z L)18em?
g : i OO0
33 33 2
00 Abstell =
178mz2 *° - Bad
, 200 6,56 m2
7\ 7\ Wohn-Essraum Zimmer 1 7\ 7\ Wohn-Essraum Zimmer 1 7\ 7\ Wohn-Essraum Zimmer 1 8|8 O O Q
31,72m 2 s 12,01 m 2 3144 m 2 - 12,01 m 2 31,44 m 2 - 12,01 m 2 NI Nl P
O O O O O O . ®
) S ) S ) S &
Wohn-Essraum Zimmer 3
29 19 m 5 @ 9,69 m 2 Belichtung A= 1,24m2
@ Q (@ O @ Zimmer 1
000
= I ) Q T T T Q T aes et T O T T T
o Loggia
O O O I Loggia Loggia Loggia Loggia E 4,14 m?
A 5,67 m? 499 m? 4,99 m? 5,16 m? I —————————— =
: R ————————— B ———————— | B ———————— —— E Balkon “‘qé)
4,13 m?
Balkon E - Balkon g - Balkon - Balkon -
564 m? =i 4,98 m? Ho 4,98 m? FS 5,16 m? FS
H & HG 5 © Balkon
H = H 4,10 m?
8 8
M 40.20 0
Kl il
L 40.36 L
1 1

'B-B




